Escola Pia

Caldes de Montbui Matematiques

3r ESO

Repas sistemes d'equacions de primer grau amb dues
incognites (amb solucions).

Exercici 1.

a) [

b)

c)

Ox+y=7 —dv=3
ox-y=1 XY=
Ox-5y=4 4=
3x+ 2y = 12 XEHYE
03x- 7y = 41

E5X+ 2y 0 X=2;y=-5

Exercici 2.

a)

b)

c) [

02x+y=15 o vt
Ex—3y=-1 XS yE

03x+ 2y =10 ~0: v=5
H5x—4y=-20 X YE

Ox-y=3 —
Dx+y =11 =hYE

Exercici 3.

) HZX- 3y = -4

b)

d)

05x-8y=-13
Y x=7; y=6

0-7x-4y=-7
HZX- y=2

05x-y=-3

02y =7-x

HZX =-6y-8 x=29; y=-11

d) O

f)

02x+ y=9 3 v=15
%3x-y= -24 X ¥E
07x+ 3y = 25

12x- By =13 x=4; y=1

05x- 3y =29 7 =2
02x+y =16 XLy
04x+5y=-5

%2x- y=-13 =5 y=3

05x-6y=3y-4
%4x- 2+3y=9y-x+1
x=1; y=1

E;x—5y: 39

0 x=-7; y=-8

02(1- x)+ 3(1+ 2x) = 6y + 2)
13x- 4ly+2)= 2(x+ y)+ 5

x=-2;y=-5/2



